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- B < B

1. X7 % ‘5}; N 7FN £ = o

(1) sin(2Q10°—0) = — cos 8, cos (270’ L — i
(2] sin(2T0°+0) = — cos 8, tan(270°+0) = — cot 0,
9. 8300, T60°, 1080°, - 210°, — 3007 — 815°

2 EWLERGEIEY 7 3K £ =,

3. XX~ 2 HZ7Z%K2» =,
(1) sec(— 780°) tan 1290°, 5 45
At sin 150” cosec (— 457

. LS e = e (Y £

o cos 225° tan 185° (% =]
4. sind40’=064 } t v tan140° ﬁﬁ i fr] (B T
- 3 0AQY __ H S DOQ 2, - o
5. tan238° = — K ¥ ., sin 238" J v cos 122 X {f

53

iy

&3

(76 A%)
8. tan(@8’+ta)tan (45" —a)=1 7 /W £ 3, @
9. sin(4d—40)=sin(4 +80) F ¥4 7R
Aa, ByA4~E’> &M =, (3% 1)
10. sin?(4+45)+ sin*(4—45) =1 7 BW « =,
(7 A
11. XKX7MHHE =+ =,

(1) tan(180° + A)sin (90° + 4)

(2)

+ cos (180° — 4)cot (180° — 4). (% &)
sin 90° 4+ tan®(180° — &) — cosec® (90" — a).

O 1)

12. X7 HFRBRKX7 M%7,

(1]
(2]
(3]
(4]

2sin*x = sina,
2cos*x — 8cosx + 1 =0,
8sin®*x 4+ 8 cosec® xz = 10.

6 cot?x — 4cos’x = 1,




60 B —R/A/V=ARRK

$ = =
“TAH MreZE o ZAHEK
3. [Ex -85 J InEE IR,

AR e BI7{FE > M1 %
sin (44 B) = gin 4 cos B+cos 4 sin B (
-een (12)
cos (A+ B)= cos A cos B—sin 4 sin B}

Ll 8 X0Y 7 4, Y0Z 7 B = 7 &> -
HfX0Z ~ A+B 7y,

& LXOZLWO v RE v, 0Z L =—BP71 Y,
P a3 ) OX,0Y ~HHPM,PN 7 §] %,N = y OX,PM
~K & EH NQNC 7 5] 7 b x -,
ZLCOPN = £QON = 4 F v,
Y7 0PIV HBAAeLTET L.
sin(4d+ B)= MP = MC+CP=QN+CP

FoR A/ MkeE = AR 61

= v 7 QN = ONsin A = cos Bsin 4,

PC = PNcos4d=sinBcosd + vk
sin (4+ B) =sin A cos B+ cos -4 sin B.
A cos(@+B)=0M=0Q-M)=0Q—CN
0@Q = ON cos 4 = cos B cos 4,
CN = PN sin A = sin Bsin 4 + v

cos (4+B) = cos 4 cos B—sin 4 sin B.

B, 4Bz7i&=9 39+ »EHL+ vH

( 60 E : ! e 1
cosAz—ﬂ,cosU :—:‘ v 7, sin(4+ B) {fi 7 §F
41 6l
By oa, (il £8)

3. ERx - BEJ BREER
sin (4 — B) = sin 4 cos B—cos 4 sin B
ccs (A — B) = cos A cos B+sin A4 sin B} b
Y] A>Btv v £LX0Y 7 4, £Y0Z 7 B v v,
0Z 7 OX + OY v+ 2> Wl =Ml 2 & », £XOZ >
A4-B F vy, wW@WHrEHEOMFEEIBEAT ¥,
sin(4d—B) = MP = MC— PC = NQ—PC

QN = ON sin 4 = cos B sin 4;

U

P} = PN cos 4 = sin B cos 4

+ X

sin (A — B) = sin 4 cos B —cos A sin B.
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N C
A
z
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B
- i o) M X
[k = cos(4—B)= cosA cos B+sind sin B
M1 x>2EFEFEFX 78U L =,

(1]
(2]

(3)

o 4
(5)

(6]

sin (4+ B)sin (4 — B) = sin*4 —sin’B
cos (4 + B) cos (4 —B) = cos’4 —sin’B

sin 15" = ﬁ%& = cos 75°

M = sin 75°
4

tan15 = 2—~ 3 = cot 75°

cos 15" =

tan 75° = 2+~ 3 = cot 15°

cos O+sin 8 = N2sin (45°+ 0) = N2cos (45"~ 6)

cos f—sin f = N 2sin (45° —0) = N2cos (45%6)

sin(A4 + B)

tan A+ tan B =" — == &
cos AcosB

G 21 @ |

PR ML =HER 63

EFd—., ARG Rt EW=R7 45
A+BR v A-B7 v = 90° 2 9 5+ »IEf b
BELY, Rv =M o KykeXifk-H
tx Lo E®WRTF Y,

A 2. ﬁﬁ"é’ﬁ oME = RNF A B 7 90 39 /hT
NVIEM PR F b % o sinl4+B) 2l 4,
EI3=. MBEH/=-R7B7 -B =fHh=

vz a YV REEHIBE A2 7R,

38. EHI/ MiEEEk - FHiEER,

tan 4 + tanB
tan (44 B) = Y
( ) 1 — tan A4 tan B (14)

tan (4+ B) = sin(4+B) _ sin Acos B+cos 4sin B

cos(4d+B) cos A cos b—sin 4sin B

VY PR 72D TF 7 cosdcosB = T2 v o

tan A+tan B
l—tandtan B~

tan (A+ B) =

1 tan 4 —tan B
nl % = tan (4 —B) = Rl
AR 1 ) S i A b B o

= vEYN I REEERF ),
B1 x’2Z2N7&BH ¢ a3,

|
i

[

i
#"
[ ;

{

1

|

e o e 8-




i 64 b A — %/ H /7 = & R | a\;:;;',: =B MR EE s = HEK 65
| o 20 + tanf <
B (1) tan(45°+0)= iitai (R 3% W WD ; B2 —RFIEBX 22—2cotd—1=0 4 7K i
i 1 Ftanf
i £ £ - B E- 5 5 4 il g * e “A .‘"1 = mhe ) g
LB @ cot(dLB) = < 1”cot il o E ‘ Z7HMEBry2EsrE I +»XN=H¥ k1)
g cot B =% cot 4
- [ A (4),15) = 3 » P e tan 75 J v tan 15° ! ol 41
! | Fﬂq 2 zZy Jf\.\ ) i k & i 40. $ ﬁ j = ﬁ gj ﬁ\} r j‘ : I:
o7k 2 3, g il
5 i B ) o . 1—cos 4 )
3. KR 7MiM =t =, Wla 2. Mg ds e
; tan A +tan (45’ — 4) + tan A4 tan (45°— 4), (G ) 1 4 3 ) Ll:‘
; 1 ( G ( ) COSl:’l = iJl’{ COS 41 > see v (17) 1
: . kKA =ZARE w5 jaiil ot /1_—7709541 ul
f- AR(DB () =R 7 B7 AL %o 2 N1+cos 4 , *;i
1 A ofe B 1 . S Pl & } :'
4 sin 24 = 2sin4 cos4 By RBEW > Fk- 42 KkT =30 lE= ;u’}‘
cos 24 = cos’A — sin’4 NI A T f'L‘
=1 —2sin’4 : '.i{’T“_h
eI AL (16) / Bl R-SA7EHE =2, He 8
= 9 cos’4 —1 , . i 18
: 1 tan—I—A wolsces 4”1 sind R
l tan 2/1 = _2_&11_‘4_ : [ 2 sin A 1 4cos 4 : H’ {
§ ] g 1 —tan‘4 1 il
1 R s I : @ sin2230 =, Jo_ Ja il
. p 3 . o N i
§ 5 () sind = 2 sm? cos > ; A il
1 7 ;" (8) cos22°80' = — ot 2, fil
1 Bl o £ pulld 2 e, 4 2 ! BiRii8
% cosd = 1 — 2sin’~— = 2cos’ —— 14§, e i
2 2 4) tan22 80 = N2 1. 118
1. 72 A2X78H & =3, v _ ) A il
o ,,Ai\ﬁ ZE)] B2 —BeFrvIEAME,> @ 7EK» 3, il
: (1 <Si"—i005—~> = 14sin 0. B 88 D P : - S
! 5 2 2 AEATER > F& 7K 2 =3, ‘,':‘!
| Sig ] 3 Al
| 8 , [2) 14cosd = 2c05'?, 1—cosd = 2s1n‘—2—. s, A% ARX=2)7Fell ke 15 : g:
(3] tan(45°+a)—tan (46°—a) = 2tan2a Uk ) EMREE vIEY 7k 2 2, {
4 :3 \ﬁ:
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66 Lo R /ERER
M4 ETZ/E~ ~~;§z/\~’(’_;£137—,v:,

FIEM e, By R EE FEE A

1. =ZEAJ =AERR
sin 8 4 = sin (24 +.4) = sin 24 cos A+cos 24 sin 4
= 2 sin 4 cos’4+ (1—2sin’4)sin 4
= 2sin 4 (1 —sin®4) + (1—2 sin®4) sin 4
= 2 sin 4—2 sin®4 +sin A—2 sin®4,

Ep + sin 34 = 3sin A—4 sin®* 4

Fl#% = cos34=4cos* 4—3cosd ) ------ (18)
3tan 4 —tan® 4
y tan 34 =
o 1—3tan* 4

1. sin*d= ri- (3 sin A—sin 34)

kv cosSA=—i—(3cosA+cos3A) FTHHE 2,

5 2. A=18" b & »v, sin2d =cos34: 3} p# a2 b

a) v7 si1118"=7“]5~'71L F = ZRBA Y,

4

 Somped =

Bz =) vy ili:ﬁi’ 7B e 3,
B3 EtHaEs % oKV (CETHAMBES

198 HifHMH) 7 Ale 7 sinl18 7 H By =K 2 3,

CosR8 =

WoR s mke % ZHRE 67

B4 snd=—F » 1t ¥ sin L)A, cos—}A kv

(31

tan —;A Tk, Ay <AL + A, (bW

Bl5. tand=221 a3 ) cos24 7K » a, & B
[ 6. sin 36° = %NVIO——Q ~'—5r
Rk v cos36°:%(~f5+1) 7B 3,

M7 EZAE, —&- I)i N10—2dB + W =
v EM e, @By B EE FE A

B M@ 6

o sinA:—i cosb’=i + &~ b ¥, cos(4+ D),
17* 5

sin(d—B) 2 fli 7 K # =, (k2 +J
Ko ESGRTBW L, 2-14
9. sin(a+p)+ cos(a—p)
= (sin @+ cos «)(sin B+ cos f).
sin (@ —p)

sin g sin 8

Qf = T

sin (B—7) i sin (y —a) -0
sin Bsiny sinysina

- [ A5

1 ~N 3

4. 5 cos 40° + sin 40° = sin 70", (i %)

¢

sin (3= a)

b. cotaztcotf == —,
sin asin 3
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68 TR —m/fA/=Z=AABHER
6, cos 65° 4 cos 55°+cos 175° = 0, Uil ==
o
7. cos’a+cos® (120°+a) +cos® (120°—a) = —%
8 2sin 4—sin 24 g A o
. — = tan” —, Nl
2 sin A+sin 24 2 B B

. 2tan A
3 SN A e -
9 1+ tan*4 (&0

1—tan®* A4

ECo e
o 1+tan* 4

8% AN

11. sin(a+45)sin (a—45°) = — —C-O—;gi_ (3 198
12. tan(45°—4)+tan (45°+ 4)= 2sec 24. 7k %]
13. “::n'zj- + £(%51]}; = 4 cos (4+B) cos (4— B).

14. cos44 =1 —8cos* A+ 8 cos* 4, (s 1)

15, @7 e U2 yHFEH S 28008
~7 08 WM 7 0 v R ER

$2c05h gy

2 sin®* —40
16. AABC =R 7 C =3 73
AB ~F 2 r Efft > £V 7 4B
Rv Z£4, ZB = 7k 2 a($#

&= 7 %)

PR s MEkCE s =RGEE 69

17 WE=Fr&F> LR~
B )W k= Er W \“

e ~ B W4 9 i \
jJﬁZrﬁ, HHE A v Rk 4 oa \\C :
e prrvsmv )k~
fily ~ B5 BE A0 P,

188 ZARX(2)Rve(14)7 fle 5

sin (4+B+0), cos(4+B+ () J}k v tan(4+B+0)

—L

x

B,

u

1§

>,

FERra, Wy7 AaXK08)7FH 3,

19. A4+-B+C =180 + ¥ 7K > 7 BH

a o
(1) tan 4+ tan B+ tan ¢' = tan 4 tan B tan C.
B ) ) A
31" tan —— tan —— +tan— tan — 4 tan bt tan£
2 2 2 2 2 2
~W=—EHE7EH A (i 48
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42. EZE&GEEI K
RARM) R e@3)=MERCWHE 7 ¥~

92 sin 4 cos B = sin (4+ B) + sin (4 —B)

9 cos 4 sin B = sin (A+B) — sin (4 —B)

2 cos A cos B = cos(4+B) + cos (4—.B)

2 sin 4 sin B = cos(4 —B) — cos (4 +B)
M1 x-72_X78W+x =,

(1) 2cosb0°sin 30° = sin 80° — sin 20°

(2] cos (45°—4)cos (45“+A)=% cos 2 4
B2 XX fH7K2 =2,

Ko DB o} Kot OQES ¥
cos 105° cos 225°—sin 105° sin 285 0 £

. —AJ)ERIXNEGEEZI HxrE

W& > 2X=RN7 4+B= a4 A—-B= § + & v,

%—(a-}—,@), B _;_(a—ﬂ) Fr 7Rl

i
sina+-sing = 2 sin%(a +f) cos—lg(a—ﬁ) 1

sina—sinf = 2 cosi(a-l— ) sin —1—((/. -5
o 2
cosa+cosf = 2 COS%(H, 1+ B cos%(a )

cosf—cosa = 2 sin%(u + 8 sin—;—(a -B)

$oF /AKX AR 71

7

4

M1 X-27FX7FH x 3,
(1] sin80° —sin 40° = sin 20", (5 2]
(2] cos(60°—a)—cos(60°+a) = N 3 sin a. (% £5)

_ tan 3(4-B)

(3) sin A —sin B
J - : .
sin 4+sin B tan } (44 B)

(dhsd P ad bsinl 4 vy g
cos A+ cos 44+ cos T4

(8) cos(a+pB+7)+cos a+cos f+cosy

= 4 cos 71) (B+7) cos l) (y+a) cos —;— (a+ B).

BJ2. cosa+cos 3x+cos dx+cos Tw

B2 -=%8x2, (%)
3. cosAd—cosBcos C+sinBsinC 7 —JHA = fb
2, (7 Af)
B4 HKX7f%E=+% 3,

sin 4 sin 24 -+sin 24 sin 54+ sin 34 sin 104
cos Acos 24+ sin 24 cos 54 +sin 34 cos104

91 %)

M & T
1. X2 BFFXTBEUR £ 2,
(1) sin(45°—4)sin (45°+ 4) = —l—cos 24

(2) sin(60°+ A) —sin(60°-— 4) = sin 4 (7k %]

T i v R R S s L

T 1 et S e O S B s+ il e R i
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PR L] i % — Aere
(5 (8) sin24 cos A+ cos 44 sin A = sin 34 cos 24 —~

(4) sin 50° +sin 10°—cos 20° = 0 (B 56 AL A —— A p
: N =

e = L ——— P |
e 2 Sl S st Mg S T e o

- sin 4 + 2sin 34+sin54 __ sin34 —_—
[ A R e P 3 B Sy (8 %)
sin 834 +2sin 54+sin T4 sin 54 & - B
sin & +4+sin2s ~+sin 3w+ sin 4 H
(6) = ———————— =tan —@&

5B cos &+ cos2x + cos3x + cos 4w

=AY o AMSEr o BE
4. BJ) BRE

=AET7 ABC b+ £ o H=v > ~4,B,C= 3

(2) 10 e Chi ) K HEE A KKabe= 7F 22 ~IF = é
cos 8.4 —cos 24 | i ~ FLp

men g ~J, Mm~¥> 48C R >y R 2 %ﬁéy v,

cos § —cos———
m

9. sin10°+sin20°—sin30° 7 f§ 2 T = & .
8 X ’FX7MHE =% =,

(1) sin 4sin (2B+4)—sin Bsin (24+D) [l 433
sin 84+ sin 24

1t

B . i e M R
i Sige el oo
R A

Tl
I

e

oIS I Il i A

[ 3] m 6:71 (il 4+ B + C= 180 ';
sin @ +sin ——0 : |
m i . ﬁ G = 90° &
4 xR’ _X7@BWE =, 2 2 2 It
gL |
. (1) sin A+4sin B+sin ¢! —sin(4+ B+ () sin 4 = gin (B+C) i i
| 3 LR o cos d = — cos(B+C |
f = 4 sin ?:] -sin At € sin ‘PT( (% 43 bt u:l I
i ! T % 7 sint 4 = cosl(]}—(- A S AR (21) i
i (2) sin{B— C)+sin (C—A)+sin (d— B) 2 2 i
; s I e B Rl S )
—44sin (B - O)sin_(4- B)sin{(4- D=0 g m) ‘ Lo 5 anld
. 5. A+B+C=180Cpr v 7 R 7 H W & =2, tan%‘l 0 coté(B—i-C)
) Y
‘;}. sin A+ sin B+sin C'= 4 cos _:»;l_ cos%cosL ] 1
| e 2 cot—4 = tan~(B+C)
| A sin24+sin2B+sin2C 7 4,B,C 7 @WK/ = ' 2 2 ]

B o, (0 4]
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74 =K B A= AR

M., AABC =R7XRZ7HBEXN7T»=2tr 7TEMN

S e

(1) sin2(4+B) = —sin2C, cos 3(4+B) = —cos 3C

B v shpg-@44aB)==-fcosé; c

4

(2] cosdcosB + cos C = sin 4 sinB.

(8] sin A+sin B+sin C = 4 cos Tu cosﬁ cos-g-
2 2 2
3R B, 7 A, 1 78]
> M
(4] sin A+sin B—sin € = 4sin 14— ot 2 gagils
2 2 2
it b & B b B g )
(6) cos A+cos B+cos C— 1 = 4sin —‘—;— sin—{)i sin-g
(th Tk T3
45' E % ii Euo
AABC =R7KR’BRT . ‘
@ = b e el (22)

sin 4 sin B sin C

R =R/ R S ; 1

Cay4h#H » Ew®CD 77 » o
AL F - X . ZD=A4,
A>90"F v ¥~ ZLD=180—-A.

v oBAE=R7 =

sin D = sin 4.

o = BC =CDsin D.

K7 4%EEH > EFBIB =7 FK~2 1 X%,

2 R = *.(Z,,,_ o
sin A4
k= 2B8=—"_Rpe 2k=_°_
sin B sin (!
a3 GO ) R e R.

gind sinB  sinC
€ a=2Rsind, b=2BsinB, c¢=2RsinC

bsin A csind
Xy a=—"——=—"—— 2§,
sin B sin C ¥
M1 KR 2BFXN7EW & =,
2sin A+3sin B _ sinC

il =
0 2a+3b c

12) acos A+bcos B = e cos(4— B). (% 18]
(8) acos A+ cos B+ccos (' =4 R sin 4sin Bsin C,
k&

e S . oAl LAY

e
ok s Y iy "
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il

A;q

kil 1]
&

6 % i.;}:; & B = - ffxi i

B2 /7 kx3:4:5 5 »Z/ME=R7EAM

BT ORFIME E M2~ BTN A, mmws

6. =AW B8 E-wEa)
a = bcos C+ccos B
b = ccos 4+a cos C

¢c=acos B+bcos A

i
B
Q
[

2 Rsin 4 = 2 R sin (B+C)
= 2 L(sin B cos C+cos B sin ()
= 2 B sin B cos C'+2 B sin (' cos B
= ccos B+bcos C,
ft > R=Rek=v78HU =2~ 7{,
B, Xo2%X7E8MW & 3,
(1)  a+d+c=(b+c)cosd+(c+a)cosB+(a-+b)cos

+ A
(2)  a(cos C'—cos B) = 2(b—c) cos® 5 076 A1)

41. B)FF =)
@’ = b+ c—9bc cos A
b = ¢+ a*—9ca cos B

¢ = a’+b'—2ab cos C

B—E =ZME /LS BB

3
~3

B

Sl b B e WA e ¥ = b
23 (23) B =N F%E=9A

a,—b,—c 7 THALAMM 7 v o

a®—l—c = — 2bccos A.

. @ = b+ ¢ —90bc cos A.

fs > K=Rk=v7FH=r7

()

B 1.

O+ —a?
206¢
c+ad-b

cos B = R*ET(T .............. (25)
e a4 I)?——(i
Qab

cos A =

b=12R,c=9R, 4=120" > » I % a 7

fEx =, CoE)

B 2.

48.

ARCHR ) 7B =29 5 %W & =,

“E2IMEIFBE=EFJ I

3
a+b _ cos (4 —B) '
‘._;’, = ,—.# ........ (26)
' sm-z—c
a—>b sin%(A —B)
_*.c__ == —*1—7—— —_— gg, ........ (27)
cos—z—C




78 F=m A=A @
T a+b _ 2B(sin A+sin B) _ sin A+sin B
c 2R sin sinC

2 sin-~(A+ B) cos—-(4— B)

T 1
2 Sin== C cos—~ C

cos—(A4—B)

sin%—(,'
4
b 3 sin5~(4—DB)
7 8 = b 2
cos—-C
a—b cos B —cos 4
A = 7] £ =

= c 1 +cos (! i 9l 2

9. “E2JIMEFELTJ EEwzw.

a—p _ tsny(d—B)

a+d  tan(4+B)

= a—b sin A—sin B
BT =
o a+b sin A+ sin B

2 cos%(A + B) sin —_1)—(A —B) tan%(A— B)

2sin-(4+B) cos5-(4—B)  tanj{(4+B)

@ tan%(A—B) - Z—"’cotlo & .. (20)

+b 2

;-;1}; .......... (28).

F—E =ZHKZ/ TS/ e 79
0. £/8) EZXBR % v« IE .
Z R(5)k el2s)= ik 7
2 sinzﬁ = 1—cos 4
2
-1— V+c*—a?
2be
i az—(i»—o_)‘i_
2bc
_ (a+b—c)(a—db+c)
2be
L= > AE > FELB)7 s b €
at+btc=2s,
at+b—ec =2(s—c),
a—b+c=2(s—0)
S e B e el S R e PSSP
25in"’i whl (j‘_;b_)
2 2 be
o gin o J(ij") (s—e) )
2 oc
- -ia 3 s—¢)(s—a)
= sln— = b e R S AR, SR P TR~ P
I % n 2 J v (30)
sinl = [B—a)(s-b)
ab )

XEVHE=v7 X BZX7 R
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8o = & = A ®
cosi _ | ss—a)
2 ,J be
P s(s—b)
CCSE‘ = J.lm__.. .......... (3 [)
L (Ts-(.'e’:}e)
2 N o ab
&7 tand = [B=06=0
; £ s(s—a)
B o=t
tan— = \ NETRESTGY. - o 6w e s 4Ty
2 J s(s—0) (32)
o = [E=@E=
2 s(s—c¢)
M X &8R7BWE s,
1) a cosg—ﬁ— +b cos“'f{ =8
2 2
2] (s—a) tan—‘f— = (s—b) tan {: = (s—c) tan‘—(;',

5. ZEABJIER arrss- %7

1

S = Lb(: sin 4d = 2 casin B =
2 2

Erv S=Ass—a)(s—b)(s—c)

C

5§ oy

—absin C (3

2 (33)
.......... (34)

A B

{/

W =HE /At JRR 81

AABC =87 CD 7 & % 1t % o,
S = 1_) AB.CD

=5, CD=>bsind X » CD =bsin (180° — 4)

S = L, besin A, (5 — s @mm 2 9l =)
; - e
A & = S:—l}—casmb’: 2absm(,
. A p.
% S = —; be sin 4 = L.l be. 2 sin o cos =

= ARG)KRe(E)7 e 7

78 2 7 Hero » 24Xt Z 7 (8 m # fi] 8 108 &),

B1 =#&»k~4 17 [, 24 [, 85 M » =M

o W A WA T, (& %)

2. =M, _B/IEETHE x H g BE 2 &%

Je o o Ffy FE S X F 2 b T

x =3,

2 % 5 o ! .
8l 3. S=ii)”1—“%(’ 7 H W =,
Z S1n 4

5 4. MBI MR T dd r v HKMT

0 v & HmE> —1)- d dism'd L) 0k @]

a3 AR I SR - 5 e TG ARt 1 195 <1 om0
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